Bid Tabulation 1

Owner:	City of Forney	Contractor:	HD Cook	s Rock Solid Ir	nc., dba R	Rock	Soli	id INC	Lambeth Home Builders INC							
Project:	Sidewalks Improvements	Address:	664 Mar	or Drive					11126 Shady Trail, Suite 116							
Engineer:	Karl Zook	City:	Argyle			Dallas										
Project Manager:	Candy McQuiston	State, Zip:	Texas 76	5226		Texas 75229										
Bid Date:	March 23, 2020	Phone:	940-464	-3049		469-441-7823										
ITEM NO.	DESCRIPTION			ESTIMATED QUANITY	BID UN			BID PRICE	UNIT	ESTIMATED QUANITY		ID UNIT PRICE	BID PRICE			
1	Concrete Sidewalk Removal		SQFT	12,040	\$ 2	2.24	\$	26,969.60	SQFT	12,040	\$	1.60	\$	19,264.00		
2	4' Concrete Sidewalk Replaceme	nt	SQFT	12,040	\$ 3	3.63	\$	43,705.20	SQFT	12,040	\$	5.50	\$	66,220.00		
3	New 4' Concrete Sidewalk		SQFT	800	\$ 8	3.49	\$	6,792.00	SQFT	800	\$	3.60	\$	2,880.00		
4	ADA Compliant Curb Ramps	EA	13	\$ 1,291.79		\$ 1,291.79 \$ 16,793.27		EA	13	\$	600.00	\$	7,800.00			
TOTAL AMO	TOTAL AMOUNT OF BASE BID:				\$94,260.07	\$96,164.00										
Time of Completion (Calendar Days):					65				65							

^{*} It is under the discretion of the City of Forney City Council to select the contractor and award the construction contract.

3

Bid Tabulation Continued

Owner:	City of Forney	Contractor:	Grod Co	nstruction LLC	•				MB Concrete Construction, INC							
Project:	Sidewalks Improvements	Address:	889 E. R	ock Island Ave	nue				13621 Indian Wells Road							
Engineer:	Karl Zook	City:	Boyd							Dallas						
Project Manager:	Candy McQuiston	State, Zip:	Texas 76023							Texas 75253						
Bid Date:	March 23, 2020	Phone:	682-302	-3219		214-536-6210										
ITEM NO.	DESCRIPTION	UNIT	ESTIMATED QUANITY		UNIT RICE		BID PRICE	UNIT	ESTIMATED QUANITY	BID UNIT PRICE		BID PRICE				
1	Concrete Sidewalk Removal		SQFT	12,040	\$	1.50	\$	18,060.00	SQFT	12,040	\$	1.50	\$	18,060.00		
2	4' Concrete Sidewalk Replaceme	nt	SQFT	12,040	\$	5.50	\$	66,220.00	SQFT	12,040	\$	5.25	\$	63,210.00		
3	New 4' Concrete Sidewalk		SQFT	800	\$	6.50	\$	5,200.00	SQFT	800	\$	6.00	\$	4,800.00		
4	ADA Compliant Curb Ramps	EA	13	\$ 1,100.00		\$ 1,100.00 \$ 14,300.00		EA	13 \$ 2,000.00		00.00	\$	26,000.00			
TOTAL AMOUNT OF BASE BID:						\$103,780.00	\$112,070.00									
Time of Com	Time of Completion (Calendar Days):				65	_		_	65							

^{*} It is under the discretion of the City of Forney City Council to select the contractor and award the construction contract.

Bid Tabulation Continued

5

Owner:	City of Forney	Contractor:	Cam-Cre	te Contracting	g INC				Tex-Pro Construction, LLC							
Project:	Sidewalks Improvements	Address:	PO Box 3	3312		2666 Quinn Street										
Engineer:	Karl Zook	City:	Cedar Hill							Ft. Worth						
Project Manager:	Candy McQuiston	State, Zip:	Texas 75106							Texas 76105						
Bid Date:	March 23, 2020	Phone:	214-514-0671							817-705-1459						
ITEM NO.	DESCRIPTION	UNIT	ESTIMATED QUANITY		UNIT RICE		BID PRICE	UNIT	ESTIMATED QUANITY		D UNIT PRICE	T BID PRICE				
1	Concrete Sidewalk Removal		SQFT	12,040	\$	1.25	\$	15,050.00	SQFT	12,040	\$	1.50	\$	18,060.00		
2	4' Concrete Sidewalk Replaceme	nt	SQFT	12,040	\$	5.50	\$	66,220.00	SQFT	12,040	\$	7.00	\$	84,280.00		
3	New 4' Concrete Sidewalk		SQFT	800	\$	6.50	\$	5,200.00	SQFT	800	\$	7.00	\$	5,600.00		
4	ADA Compliant Curb Ramps	EA	13	\$ 2,050.00		\$ 2,050.00 \$ 26,650.00		EA	13	\$	800.00	\$	10,400.00			
TOTAL BASI	TOTAL BASE BID PRICES:				\$113,120.00	\$118,340.00										
Time of Com	Time of Completion (Calendar Days):				65			_	65							

^{*} It is under the discretion of the City of Forney City Council to select the contractor and award the construction contract.

7

Bid Tabulation Continued

Owner:	City of Forney	Contractor:	Highway	19 Constructi	on				AMX Construction & Specialties, G.P. LLC							
Project:	Sidewalks Improvements	Address:	PO Box 4	192					2351 W Northwest Highway, Suite 2118							
Engineer:	Karl Zook	City:	Sulphur Springs							Dallas						
Project Manager:	Candy McQuiston	State, Zip:	Texas 75483							Texas 75220						
Bid Date:	March 23, 2020	Phone:	903-945	-2200		214-353-8087										
ITEM NO.	DESCRIPTION	UNIT	ESTIMATED QUANITY		UNIT RICE		BID PRICE	UNIT	ESTIMATED QUANITY	BID UNIT PRICE		BID PRICE				
1	Concrete Sidewalk Removal		SQFT	12,040	\$	2.50	\$	30,100.00	SQFT	12,040	\$	2.00	\$	24,080.00		
2	4' Concrete Sidewalk Replaceme	nt	SQFT	12,040	\$	5.50	\$	66,220.00	SQFT	12,040	\$	6.10	\$	73,444.00		
3	New 4' Concrete Sidewalk		SQFT	800	\$	6.00	\$	4,800.00	SQFT	800	\$	6.10	\$	4,880.00		
4	ADA Compliant Curb Ramps	EA	13	\$ 1,800.00		\$ 1,800.00 \$ 23,400.00		EA	13 \$ 2,300.00		300.00	\$	29,900.00			
TOTAL BASE BID PRICES:						\$124,520.00	\$132,304.00									
Time of Completion (Calendar Days):					65				65							

^{*} It is under the discretion of the City of Forney City Council to select the contractor and award the construction contract.

9

Bid Tabulation Continued

Owner:	City of Forney	Contractor:	Nouveau	ı Construction	& Те	chnolog	у		Alderink Enterprises, INC., dba CI Pavement							
Project:	Sidewalks Improvements	Address:	2441 Lac	cy Lane		101 Josephine Lane										
Engineer:	Karl Zook	City:	Carrollton							Grand Prairie						
Project Manager:	Candy McQuiston	State, Zip:	Texas 75006							Texas 75050						
Bid Date:	March 23, 2020	Phone:	972-484-5077							972-721-9796						
ITEM NO.	DESCRIPTION	UNIT	ESTIMATED QUANITY		UNIT RICE		BID PRICE	UNIT	ESTIMATED QUANITY	BID UNIT PRICE		BID PRICE				
1	Concrete Sidewalk Removal		SQFT	12,040	\$	3.00	\$	36,120.00	SQFT	12,040	\$	2.25	\$	27,090.00		
2	4' Concrete Sidewalk Replaceme	nt	SQFT	12,040	\$	6.00	\$	72,240.00	SQFT	12,040	\$	7.20	\$	86,688.00		
3	New 4' Concrete Sidewalk		SQFT	800	\$	6.00	\$	4,800.00	SQFT	800	\$	9.65	\$	7,720.00		
4	ADA Compliant Curb Ramps	EA	13	\$ 1,600.00		\$ 1,600.00 \$ 20,800.00		EA	EA 13 S		\$ 1,480.00		19,240.00			
TOTAL BASI	TOTAL BASE BID PRICES:				\$133,960.00	\$140,738.00										
Time of Completion (Calendar Days):					65				65							

^{*} It is under the discretion of the City of Forney City Council to select the contractor and award the construction contract.

Bid Tabulation Continued

Owner:	City of Forney	Contractor:	Axis Con	tracting, INC					XIT Paving and Construction, INC							
Project:	Sidewalks Improvements	Address:	РО ВОХ	360716		3935 S. Highway 287										
Engineer:	Karl Zook	City:	Dallas							Waxahachie						
Project Manager:	Candy McQuiston	State, Zip:	Texas 75337							Texas 75166						
Bid Date:	March 23, 2020	Phone:	972-557	-3673		972-351-9907										
ITEM NO.	DESCRIPTION	UNIT	ESTIMATED QUANITY		UNIT RICE		BID PRICE	UNIT	ESTIMATED QUANITY	BID UNIT PRICE		BID PRICE				
1	Concrete Sidewalk Removal		SQFT	12,040	\$	2.50	\$	30,100.00	SQFT	12,040	\$	4.00	\$	48,160.00		
2	4' Concrete Sidewalk Replaceme	nt	SQFT	12,040	\$	7.72	\$	92,948.80	SQFT	12,040	\$	7.00	\$	84,280.00		
3	New 4' Concrete Sidewalk		SQFT	800	\$	8.36	\$	6,688.00	SQFT	800	\$	7.00	\$	5,600.00		
4	ADA Compliant Curb Ramps	EA	13	\$ 1,676.00		\$ 1,676.00 \$ 21,788.0		EA	13		\$ 2,500.00		32,500.00			
TOTAL BAS	TOTAL BASE BID PRICES:				\$151,524.80	\$170,540.00										
Time of Completion (Calendar Days):					65				65							

^{*} It is under the discretion of the City of Forney City Council to select the contractor and award the construction contract.